
12/21/2021

Front wheel, Rim brake Model Year Hub Platform Bearing #

Kit Part Number [Enduro Steel 

Bearings]

Kit Part Number [Enduro Zer0 

Ceramic Bearings]

Kit Part Number [Enduro XD-15 

Ceramic Bearings]

Eos, Ares, Ares CS,  Vigor Alpha, Vigor, Vigor CS, 

Elan Alpha, Elan all [excl. 2002-2003]

TdF7.0/TdF6.0/TdF5.5/  

TdF4.4/TdF3.4 6801 2RS x 2pc 2040170 2160074 2180014

Ares ES, Ares LS, Vigor ES, Vigor LS, Echelon 2014 - 2021 TdF3.0/ 2.4 699 2RS x 2pc 2100032  -  -

Front wheel, DISC brake Model Year Hub Platform Bearing # Kit Part Number Kit Part Number2 Kit Part Number3

Eos, Ares, Ares CS, Vigor, Vigor CS,  Elan, Hyalite, 

Tandem, Tandem Carbon, Alsea, Black Rock, Ralos 2016 - 2022 XST7.0/ 6.0/ 5.5/ 4.4/ 3.4 MR17287 2RS x 2pc 2130179 2130174 2180017

Ares ES, Ares LS, Hyalite ES , Vigor ES,  Vigor LS, 

Echelon,  Rage 2017 - 2021 XR M18307 x 2 2140079  -  -

Rear wheel, Rim brake Model Year Hub Platform Bearing #

Kit Part Number [Enduro Steel 

Bearings]

Kit Part Number [Enduro Zer0 

Ceramic Bearings]

Kit Part Number [Enduro XD-15 

Ceramic Bearings]

Eos, Ares, Ares CS,  Vigor Alpha, Vigor, Vigor CS, 

Elan Alpha, Elan all [excl. 2002-2003]

TdF7.0/TdF6.0/TdF5.5/  

TdF4.4/TdF3.4

SH: 6802 2RS x 3pc, 6902 2RS x 2pc

CA: 6802 2RS x 4pc, 6902 2RS x 1pc, 

spacer

Shimano: 2130172

Campy: 2130173

Shimano: 2160075

Campy: 2160076 

Shimano: 2180015

Campy: 2180016

Ares ES, Vigor ES all  TdF3.0 6803 x 4 2140198  -  -

Ares3 LS, Echelon, Aspin 2014 - 2021 TdF2.4 6901 2RS x 2 pc, 6001 2RS x 2pc 2100033  -  -

Rear wheel, DISC brake Model Year Hub Platform Shimano Kit Part Number Kit Part Number2 Kit Part Number3

Eos, Ares, Ares TT, Ares CS, Vigor, Vigor CS,  Elan, 

Hyalite, Tandem, Tandem Carbon, Alsea, Black Rock 2013 - 2022 XST7.0/ 6.0/ 5.5/ 4.4/ 3.4

SH: 6802 2RS x 2pc, 6902 2RS x 3pc

CA: 6802 2RS x 3pc, 6902 2RS x 2pc, 

spacer

Shimano: 2130175 

Campy: 2130176 

Shimano: 2160077 

Campy: 2160078

Shimano: 2180018 

Campy: 2180019
Ares ES, Ares SL, Vigor ES, Echelon, Hyalite ES, 

Hyalite LS,  Rage 2017 -  2021 XR3.0/ 2.4 6903 x 2, 6802 x 2 2140080  -  -

Rolf Prima Bearing Chart  2021-2022


